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while(1){
//1000 switchOOOOOOOOOOOODOODOOO
switch(mode){
case 0: //000 6000DOODOOOOO
hoge();

break; //breakO00000O000OO

case 1: //000 1000000C00OO

hoge();
break; //break 000 0OOO0O0O

ooo :

default: //000000000CCOOO0O0OO

hoge () ;
break; //break 00000000

//2000 switchOOOOOOOOOODOOODOOOOOODODOOOO0OO0O0ODOOO0
switch(mode){
case 0:
if() mode = hoge;
break; //break 00000000

case 1:
if() mode = hoge;
break; //break 00O OOO0O0O

ooo :

default: //00000000000OO0OOCOO
hoge();
break; //break 00000000
}
//00000000000D000
hoge();
//sleep 000 for 0 while(1) 00O O OO0O00O0O0OODODOOOOOOOOO
//000000000000000d
sleepQ;
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